oS 2304 AB = 9cm , BC = 6cm , AC = 12cm , BD = 4cm ¥
o, CD ¢] Zo]=?

@ 4cm @ 5cm ® 6cm @ Tcm ®)8cm

S5 ~
AABC 2} ACBD 9| A

AB:BC=CB:BD=3:2

(BE3TF

. AABC ¢ ACBD (SASE-2)

AB:CB=AC:CD

9:6=12:x

L x=38
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3. o2 199 HPAE ABCDo|A AF = 4cm, FC = 6cm, BC =
9em @ w, DE 9] Aol & F-513?

@ 2.5cm @)3cm ® 3.5cm

@ 4cm ® 4.5cm

B ~
AD //BCO|22, AAEF 9} ACBF 9|4 (EAF = /BCF(%12})

, /AEF = /CBF(31Z}) o|22, AAEF 0o ACBF (AA H)
ojtt,

. AF:CF=AE:CB

4:6=AE:9

AE = 6(cm)

ED=AD-AE =9 -6 = 3(cm)

- ED = 3(cm)




-2 2 A AD 7} A 9] o] 5EAY wf, AABC, AACD 2] Y]
S1, Sy o Hl&=?

D 5:7 @ 7:12 ®7:5 (@)12:7 ® 12:5

B ~

AD = AABE 9] 9]2}9] 0|52 40] B2 AE = AB °[t}. AABD
St AACD 9] W] Fol 9 Ml 5 : 7 0|1 Folk A2 2o
o2 yolo] L 5 7 o]t} waha] AABC, aAACD & Yo]<]
HE§,:85,=12:7 o]t}




5. o= 2"IA BC//DE & W, x+y 9] gh2?

_-bcm- _

@ 12cm @ 15cm ® 18cm ®)21 cm ® 24cm

B

4:8=6:y 0|22 y=12(cm)
CA:CE=BA:BDO9JE28:12=6:x
x=9(cm)

“ x+y=21(cm)
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6. TS 1Y)4 BC//DE ¢ W, the F AgstA] g A9

A
D,
F
B G C
® AD:DB = AE:EC @ DF:BG = AE: AC
DF BG AB FE
AF AE
¥ %6~ ac
- FE AF AD oy =
BC DEOEE =:=:=§._, O'?‘J_"
//PECISE ® 75 =35 ~ 35 =T e




